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(English Version)
Section — A (Languages)
1 ‘HA-HY TS -TW A T I WE B

A) TSR - AraH B) forem - e C) &y -HiaH D) a<a - HieH
2. G WS T TANT R G & SRt 31 B 7

A) HAfFaraR B) Sifaaresh C) ¥aar=sh D) EEEISED
3. | @ A fRee wated B 2 7

A) ™ B) foran C) faramyor D) wmE
4. feafofaa % ¥ =@ o =Aifow 27

A) TuS B) W@ C) = D) ==
5.  frafaRaa § ¥ wman o qiewa 27

A) dreet B) | C) === D) =f&ron
6.  Tieww-ERRIT & g™ A ¥ Fiver g °E 8l 27

A) dTeTeR - aTfeteRT B) e - Frad C) m- I D) R-1a
7. T 6T AT Yehae § JANT Bl 8 7

A) &= B) @ C) s ‘A’ D) ‘A’ @ ‘B’ 3=t
8.  Ha & fre w1 d A = qERA & Ay B 27

A) 994 - FRE B) 99eH - & C) GMeM-FREk D) 3MEH - FRF
9. afeer T TR & B 27

A =R B) <= C) 3R D) U
0. 3TE T faewes i @ 27

A) Isotad B) =t C) @a=R D) dso
N S W R T qEEEr Ha 2 7

A) W B) =% C) &t D) 3%
12 ‘fafr = w@ foeiw o 27

A) fer B) &rA C) &% D) =R
13, ‘s’ @ faew o 27

A) &S B) =R C) 3urst D) 9=
4. w8 atu-fase &1 we Fife-

A) WET-%ed B) W&t +3ed C) 98l +3g D) ¥t + 3Aeg
15, frafaRaa 9@ swe |fer &1 =9aT o -

A) TS + AT = TSIl B) fa +®rur = fomwRor

C) ufm +wa = ufiea D) . +=wa =fw=a
16. ‘oo™ A I MBTR I e IS B -

A) foramT-gemr =t 3 B) 3o it BT

C) 3Ta~ HIfHeh I TGNt AT HeT D) foramr & gom &
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17. N T @R S’ weEd ol GEr A B-

A) STEIFHTRT A TharT ol & B) W€ 9 ¥ TS AT

C) ¥ &l ITANT Wft T X & D) &% ¥ IUUR @
18, JEEEEAl ¥ AfE o -FT TRd T Hwe - arey & o v wee o -

A) FHauTT B) 3mRus C) ¥e=R D) 3=
19. ‘O W w9 ¥ B A s 27

A) &t B) Tt C) wrar D) Wi

20. 3EE 9 BT ¢
A) fo@ a9 | A UBeT 9T IR 9UI BT § 39 ST 9HY hEd B |
B) S & ¥ <8 e YR UM Bl § S9 AeqRy S FEd § |
C) ford =g ot e g <&l 811 39 g8 999 Fed B
D) f5& @ 92 | I Ug TUM 8l Bl 921 3F R fRal AR I8 9 SR 9ahd e & 39
TEAife 9™ Fed B |

Directions Qs. 21-24: Choose the opposite of the given word out of the fptions:-
21. Jejune

A) Sophisticated B) Arrogant C) Delightful Didifferent
22. Jeopardy

A) Validity B) Safety C) Piety D)Tactfulnes
23. Obfuscate

A) Complicate B) Eclipse C) Clarify D) Antzate
24. Inveigh

A) Liberate B) Suggest C) Equivocate D) Suppo

Directions Qs.25-28 Choose the correct preposition, out of the fqutiams, to be filled in the blanks:-
25 Shyam is ignorant his mistake.

A) of B) to C) for D) at
26. His speech was appropriate ____ the occasion.

A) upon B) to C) about D) for
27. Kalim’s behavior is subversive __ discipline.

A) with B) about C) of D) for
28. Radhika’s aptitude__ business cannot be ddubte

A) to B) about C) at D) for

Directions Qs.29-32 In these questions, four alternatives are giweritfe italicized idioms. Choose the
alternative which best expresses the meaning atithm:-
29. Afly on the wheel

A) a person who overestimates her/his importancga jBerson who cautions the people

C) a person who is hostile to all D) a persdmwntertains others
30. Fly off the handle

A) attack someone’s enemies B) lose one’s terspadenly

C) make one’s escape D) run away from theaiffisituation
ZBG-20997-A 3 Contd.



31. Keep the wolf off the door

A) keep her secrets intact B) keep protestipginst the times
C) keep off starvation D) keep working witmatst speed
32. To be under the harrow
A) to work hard B) to be awarded for honestyt&lpe in good health D) to be in distress

Directions Qs.33-36:Choose the correct synonyms of the following wardsof the four given options:
33. Diaphanous

A) silken B) tired C) kind D) thick
34. Expostulate
A) infer B) disagree C) remit D) simmer
35. Improvised
A) imprudent B) incautious C) unstudied b)ivious
36. Maverick
A) materialist B) spiritualist C) selfish Dpnconformist

Directions Qs.37-40Choose the correct form of the following words las given part of speech out of
the four options:
37.  Above as noun:

A) Our blessings come from above B) The heaveasibove

C) The moral law is above the civil D) Analyse tbove sentence
38. Down as noun:

A) Down went the “Titanic” B) Shyam has seen tips and downs of life

C) The porter was killed by the down train D) ®rgine came rushing down the hill
39. But as adverb:

A) None but the brave deserve the honour B) Wl thiard, but did not succeed

C) It is but right to admit our faults D) Theseno one but likes him
40.  After as adjective :

A) They arrived soon after B) He takes afterfatber

C)We went away after they had left D) After agbkall sing his glory

Section — B

41. Superconductivity is a material property asged with:
A) cooling a substance without a phase change i&hainless liquid flow
C) a loss of thermal resistance D) a loss oftetad resistance

42. A type of plastic that is biodegradable and len in the news lately. The ingredient that makes
it biodegradable is :

A) vegetable oll B) petroleum C) corn starch |&gther
43. How many Dynes are there in one gram weight?
A) 900 B) 375 C) 981 D) 250
44, If the distance between the earth and the sene wwvice what it is now, the gravitational force
exerted on the earth by the sun would be:
A) twice as large as now B) four times as laagét is now
C) half of what it is now D) one-fourth of whais now
ZBG-20997-A 4 Contd.



45.

46.

47.

48.

49.

50.

51.

52.

53.

4.

55.

56.

S57.

58.

59.

60.

61.

62.

ZBG-20997-A

Who was the first Indian to be selected toBhesh Parliament?

A) Dadabhai Naoroji B) G.K. Gokhale C) Bipin ChaadPal D) Lala Lajpat Rai
Which of the following Rajput dynasties did sarrender to Akbar?

A) Parmar B) Pratihara C) Rathor D) Sisodiya
Which of the following is not a classical laage of India ?

A) Sanskrit B) Telugu C) Hindi D) Malayalam

The scientific study of ageing is known as :

A) Etiology B) Gerontology C) Osteology D) Taskdgy

Which Indian artist decorated the handwrittepycof the Constitution?

A) Nandalal Bose B) Mihir Sen C) S. N.negi D) Mukesh Bhandopadhyaya
Preamble of the Indian Constitution has beeeraiad

A) Once B) Twice C) Thrice D) Never

Which of these are nicknamed ‘Bretton WoodsnBi?

1. IDA 2. IMF 3.IBRD 4.WTO

A) 1&4 B)3&4 C)2&4 D)2&3

Section -498A of Indian Penal Code is a pops#a&tion. It deals with:

A) Property rights to women B) Reservationsvimmen

C) Harassment for dowry D) Kidnap and rape

The United Nations climate change conferenc®T3or CMP9 was held in November 2013 at:
A) Paris B) Warsaw C) Montreal D) Kyoto

The number of approved share markets in Iredia i

A) 19 B) 20 C) 23 D) 24

Which of the following state has been brougta the railway network for the first time?

A) Manipur B) Assam C) Tripura D) Arunachal &esh

Who among the following has recently been setkfor the coveted Indira Gandhi Prize for Peace
Disarmament and Development for 2013 ?

A) lla Bhatt B) Medha Patkar C) Angela Merkel  ©Ohandi Prasad Bhatt
Victoria Azarenka, who won the Australian Oemnis women'’s singles title 2012 is from:

A) USA B) Belarus C) Germany D) Slovakia

The National Sports Day is observed on:

A) August 29’ B) July 2¢' C) September 39 D) August 28

Sonal Mansingh is famous for which form of dzthc

A) Bharatnatyam B) Manipuri C) Kuchipudi D) Kath

Ms. Meera Sahib Fathima Beevi is distinguishethe first lady

A) Judge of the High Court B) Governor of a 8tat

C) Judge of the Supreme Court D) Prime MinisteBangladesh

The maximum poll expenditure for a Lok Sabhat bas been raised by the Union Cabinet on the
suggestion of the Election Commission of India:

A) From Rs. 30acs to Rs. 70 lacs B) From Rs. 40 lacs to Rda@s

C) From Rs. 50 lacs to Rs.70 lacs D) From Rdads to Rs. one crore

Which of the following agencies determine kiag of the countries in accordance with
Economic Freedom Index ?

A) World Economic Forum B) UNDP

C) Heritage Foundation & Wall Street Journal D) WdBank

Contd.
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63.  When is the World Population Day observed?

A) May 31 B) July 11 C) Oct. 4 D) Dec. 10
64. What was the highest individual score, in anngs in ICC T20 World Cup 2014?
A) 101 B) 106 C) 111 D) 116
65. Fiscal Policy is related to:
A) Money supply in the economy B) Regulationué banking system
C) Planning for economic development D) GovernrsdRevenue and Expenditure
66. Which American President has recently paintpdr&ait of Dr. Manmohan Singh?
A) Barack Obama B) George Bush C) Bill Clinton D) Ronald Reagan
67. Which is the largest economy in African Contitte
A) South Africa B) Nigeria C) Algeria Mone of the above

68. Who wrote ‘Why | am an Atheist’?
A) Subhash Chandra Bose B) Khushwant Singh C) &hamgh D) Madan Lal Dhingra
69. The recently set-up"Tentral Pay Commission is headed by

A) Ashok Kumar Mathur B) G.K. Chadha
C) Montek Singh Ahluwalia D) Ajit Prakash Shah
70. National Rural Employment Scheme was launchexighout the country from :
A) 1.04.2007 B) 02.10.2007 C) 14.11.2007 D)0a12008
71. ‘England’ is related to ‘Atlantic Ocean’ in tsame way as ‘Greenland’ is related to:
A) Pacific Ocean B) Atlantic Ocean  C) Arctic Ocean D) Antarctica Ocean

Direction Qs.Nos.72-73: Choose one of the four givalternatives that shows the same relationship
as is found between the two letters/numbers to tHeft of the sign ::
72. FJUL : BOQQ :: LHRX : ?

A) BKPR B) MNCC C) HRYY D) HMNC
73. 9: 162 :: 8 :?
A) 162 B) 128 C) 96 D) 112
74. Choose the group of words that shows samgaeship as is given in the question :
Correspondent : News : Newspaper
A) Farmer : Crops : Food B) Mason : Cemddonstruction
C) Cloud : Water : Ponds D) Road : Vehicl®estination

Direction (Q.Nos. 75-76): Three of the four alterntives given are same in a certain way and so form
a group. Find the odd one that does not belong thé group:

75. A) 62 B) 42 C) 152 D) 110

76. A) Java B) Sri Lanka C) Malaysia Duba

77. In a certain code language, ‘lu ra de’ meartgatwvas it’; ‘mo nil’ means ‘you go’; ‘nil pam ra&’
means ‘you like it" and ‘tok lu fo’ means ‘she wsisk’. How will you write ‘what you like’ in
that code ?
A) nil ra lu B) pom nil ra C)pomra lu @ nil pam

78. If ‘MOUSE’ is coded as “PRUQC’, then how BHIFT’ written in the same code?
A) VKIRD B) VKIDR C) VJIDR D) VIKRD

79. How many meaningful English words can be maitle the letters ‘ATLE’ using each letter only
once in each word?
A) Two B) Three C) Four D) More than four

ZBG-20997-A Contd.
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80.

36 vehicles are parked in a parking lot innglei row. After the 1st car, there is one scoaifer

2nd car there are two scooters, after 3rd caethex three scooters and so on. Work out the
number of scooters in the second half of the row.

A) 10 B) 12 C) 15 D) 17

Direction (Q.Nos. 81-83): Six plays A,B,C,D, E and& are to be organized from 2nd June to 7th
June, i.e. Monday to Saturday — one play each daylhere are two plays between C and D and one
play between A and C. There is one play betweendhd E and E is to be organized before F. B is to
be organized before A, not necessarily immediatelyThe sequence of plays does not start with B.

81.

82.

83.

84.

85.

86.

87.

The sequence of plays would start from whiely

A) A B) F C)D D) Can’t be determined
On which date is play E to be organized ?

A) 2nd B) 4th C) 3rd D) Can’t be detaned
The sequence of plays would end with whicly fla

A) A B) D C)B D) Can’t be determined

B, C, D, E, F, G, H, J are sitting around aleifacing the centre . B is an immediate neighlodu
F and C. E is second to the left of F. G is sdctinthe right of C. D is not an immediate
neighbour of G. There are two persons betweendCJarHow many persons are between C and
D?

A) 2 only B) 4 only C) 5 only D) either 2 or 4

If ‘A + B’ means that A is the father of B; -8’ means that A is the wife of B; ‘A x B’ means
that A is the brother of B and ‘A + B’ means thatisA\the daughter of B. Then which of the
following is true for P+R+ S+ Q ?

A) P is the daughter of Q B) Q is the aurtier’'s sister) of P

C) P isthe aunt (father’s sister) of Q D)sRhie mother of Q

Q’s mother is the sister of P and daughtév.ofS is the daughter of P and sister of T. Howlis
related to T?

A) Maternal Grandmother B) Father C) Masgti@randfather D) Option (A) or (C)
Ram starts walking towards East from a pointai®l after walking 15 m turns to his left and
walks 10 m, again he walks 10 m turning to his &ftl finally walks 22 m turning to his left and
reaches a point ‘Q’. How far and in which direatis he from the point ‘S’?

A) 15 m South B) 22 m South-East C) 12 m South D) 13 m South-East

Direction Q.Nos. 88-89: Read the pattern of lette/numbers/terms and find the missing term from
the given alternatives:

88.

89.

90.

ZBG-20997-A

9, 27, 31, 155, 161, 1127, ?

A) 1135 B) 1288 C) 316 D) 2254
Y,B,T,G,O,?
A) N B) M C) L D) K

In the following series some letters are mggsivhich are given in that order as one of the
alternatives below it. Choose the correct alteveat

adb_ac_d _bcda bcac_d

A) bacbd B) dbacb C) cbadb D) acbda

Contd.
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91.

92.

If P denotes +, Q denotes —, R denotes x ateh8tes =+, then which of the following is cotfec
A) 16 R12P49S7 Q9=200 B) 32S8R®HBBQ 12 R 12

C) 8R8P8S8Q8=57 D) 36 R4S 8 Q4710

The age of father 10 years ago was thrice geeoé his son. Ten years hence, father’'s age will b
twice that of his son. The ratio of their presages is :

A) 5:2 B) 7:3 C)9:2 D) 13:4

Direction (Q.Nos. 93 to 95): A survey of a loc#y regarding newspaper reading habits shows
that: newspaper A is read by 26%; newspaper B is @ by 25%; newspaper C is read by 14%;
newspaper A and B are read by 11%; Newspaper B an@ are read by 10%; Newspaper C and A
are read by 9% and newspaper C only is read by 0%.

93.  The percentage of readers who read all tlee thewspapers is

A) 10 B) 4 C)5 D) 6
94. The percentage of readers who read at most@mspaper is

A) 20 B) 80 C) 60 D) None of the above
95.  The percentage of reader who read at leashémspapers is

A) 15 B) 16 C) 20 D) None of the above
96. How many times are the two hands of a clocight angles in a day ?

A) 24 B)48 C) 22 D) 44
97. Calendar for the year 2014 will be the sametferyear:

A) 2018 B)2020 C) 2022 D) none of the above
98. Choose the alternative which most closely réesithe mirror-image of word PAINTED

(A) ATNIA] (B) AATVIAY
(©) AAINIAT (D) AETNIA1

99.  Two positions of a dice are shown below. WHerd are two dots at the bottom, the number of

dots at the top will be

o / .o .o
[ ] ®le [ ]
° ° ° * o

A) 2 B) 3 C)5 D) 6
100. How many triangles are there in the givenrégu

A) 28 B) 24 C) 25 D) 26
101. Which one of the following is the main objeetof teaching?

A) To develop thinking power of the students B) To give information related to the syllabus

C) To dictate notes to the students Oprepare students to pass the examination
ZBG-20997-A 8 Contd.



102. Which of the following statements regardiMgtmory Level of Teaching” ( MLT) is incorrect ?
A) Memory is the initial stage of teaching
B) Memory Level of Teaching mainly depends onghevailing socio-economic conditions
C) MLT includes the habit of rote memorizationfacts and bits of information
D) MLT enables the learner to retain and alsoagdpce the learnt material whenever required
103. Which of the following statements regardiritynderstanding Level of Teaching” ( ULT) is
incorrect?
A) Morrison is the main proponent of ULT
B) It is ‘memory plus insight’ as it goes beyondtjuhe memorizing of facts. It focuses on the
mastery of the subject
C) Cultural materialism is also a primary determgnfactor of ULT
D) It provides more and more opportunities for shedents to develop the intellectual behavior
104. Which of the following statements regardirReflective Level of Teaching’(RLT) is incorrect ?
A) Hunt is the main proponent of RLT
B) It is problem - centred teaching
C) The students are assumed to adopt some sasexrch approach to solve the problem
D) The teacher assumes the primary place andupi occupies the secondary place
105. Which of the following is not a domain orexgdry of instructional objectives according to Bioo
etal ?
A) Socio-Political Domain  B) Cognitive Domain C¥factive Domain D)Psychomotor Domain
106. Which of the following is not one of the adtages of “Lecture Method"?
A) It is economical as it can cover large audieimdess time
B) It promotes social cohesion among the pupils
C) It is useful for stimulating further learning
D) It has the flexibility for adapting the lectuaecording to time and equipment available
107. Which one of the following is not one of thdvantages of ‘TV or Video Presentation’ as a
teaching method?
A) Many important personalities and experts areught to the classroom through video-
presentation
B) This method is specifically useful for adulataers
C) It promotes a sort of nativism among the leegne
D) lllustrated lectures and demonstrations can ugplemented by other teaching aids such as
slides, models, specimens, etc.
108. Which one of the following is not one of #tvantages of ‘Team Teaching Method’?
A) It helps in sharing the best faculty by monedents
B) It involves optimum use of teaching technigaed devices
C) It improves the teaching quality
D) It affects the socio-economic conditions of hupils
ZBG-20997-A 9 Contd.



109.

110.

111.

112.

113.

114.

115.

116.

117.

118.

119.

120.

41.

Which one of the following is not one of t@dvantages of ‘Group Discussion Method’ ?

A) It flattens out the ideological differencestbé pupils

B) It can be planned where there is certainty aibiweiconclusions and objectives. The discussion
is guided by the trainer in an appropriate sequence

C) It promotes communication and interaction withigroup around a topic or problem presented
to the group

D) It can also be unplanned where the topic ptesefor discussion is without any opening
statement and discussion that follows is entirplynganeous

Which one of the following is not one of tdvantages of the “Case Study Method’?

A) It provides opportunity to the participants taoritically analyze the problem and express
reasoned opinions

B) It promotes gender-sensitivity among the pupils

C) It enhances decision —making and problem-solskilds

D) It ensures active participation, which may l¢éadhnovative solutions

Which one of the following is not one of faactions of ‘Evaluation’?

A) Feedback B) Motivation C) Ideological indantation D) Better guidance
Who among the following is considered a premd of the Wardha Education System?

A) Sri Aurobindo B) S. Radhakrishnan C) J.Krishnatin D) Mahatma Gandhi
Who among the following was the main propomémhe Kindergarten system of education?
A) Froebel B) Rousseau C) Maria Montessori @yrIDewey
Which of the following is not one of the “Rrated Visual Aids™?

A) Slides B) Bar Chart C) Handheld Projector \[lJeo Projector
Which of the following is an independent vhlgain teaching-learning process?

A) Student B) Institution C) Teacher (D) &xats

The highest level of cognitive domain is:

A) Synthesis B) Analysis C) Comprehensive D)HsBON

Who has the least chance of becoming anteféeteacher?

A) One who has no interest in teaching B) One ghestrict disciplinarian

C) One who neglects teaching D)One who knowsligect well

Books can be a powerful source of commurunaprovided:

A) The content is abstract B) The contentlistrative

C) The medium is Hindi D) The print quality dfet book is good

Good teaching is best reflected by:

A) Attendance of students B) Number of distiont

C) Meaningful questions asked by students D)d?Pap silence in the class

The ability to locate, evaluate and effedyivese information is an important trait known as :
A) Critical thinking B) Information literacy

C) Number of distinctions D) Selective attention

Section — B (Hindi Version)
A - AT+l T @ Rraenr fra @ wefea forar s 2

A) & garst ot grae aReade & foe a5 Fen B) w6 & foen el g
C) dr gferrer & s1f+ D) faera ufemier <t =i

ZBG-20997-A 10 Contd.



42.

43.

44.

45.

46.

47.

48.

49.

50.

51

52.

53.

54.

55.

e &l fre ol g - iy 8 3R e 8 ¥ 99§ W R S gUce 39 Wd - ey
TICT B, 98 B

A) el 9 B) ugifera C) T D) =2t

T T & 9R A oo 3w &

A) 900 B) 375 C) 981 D) 250

T g IR T A I U B o 3@ 2, W YR W 9 gN A IR §ef BA:
A) fa 3@ 2 3@ & [T = B) et 3@ 2, 3@ ¥ IR

C) e 3@ 2, 39 4 Jmen D) fSor 3@ ®, 39 ¥ U - <A

T8 TEel WRaE & o @ @ fafew wae F wm foman T em:
A) TETNIE ARSH B) Wit &, e C) fafe =surer D) WTell AT T
fore ToTIE 99 7 SRR & IR SR T8l foRar o

A) TEHER B) ufeEr C) R D) femiferar
T -G AT RS S Tt W T8 #:

A) ded B) o C) &=t D) w#erare™
THIATHIG o e LT ! THed 7

A) s B) wfesmr  C) stfufamrT D) forsftmar - fammr
fore WRAA AR ¥ AU Sl SEAfciRad hidl ol A fehar o:

A) FEA a4 B) fafex &7 C) wa v s=mit D) Mo S=Iaredr™
VR & GAUH o TErEAT o qaee feaet R foear e @

A) T& SR B) & &R C) 99 ar D) & =8t
f&= ‘Bretton Woods Twins'®t U= fear S #:

1. IDA 2. IMF 3. IBRD 4. WTO

A) 1 3R 4 B) 3 3R 4 C) 2 3R 4 D) 2 3R 3
WA 38 Giear $ ORT 498 T AR{Ua R 21 97 fhe & wefte ®

A) wfgest & st sifereR B) wfgenstt & forg smerr

C) o= & forw Iedie D) &l 3R SAhR

T T eAag qRae @ e COP193taar CMP9 FaaR 2013 # &8l W g3 o
A) iRa B) awar C) wifreast D) waret

WRA § FAIRT AR AR S 8

A) 19 B) 20 C) 23 D) 24

fre Tog Y I Aeas § UEell SR AR T R

A) HfoTR B) & C) faa D) 3JmunEd ged
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56.

57.

58.

59.

60.

61

62.

63.

64.

65.

66.

67.

68.

2013 & forg wfea Frede ik o & o sreifera sfer aitel TR & forg & & & form o
o= fomar T 2

A) Te T B) Wem urdeR C) Toiell Wbl D) =S yare Wee
faraiRar som=t, o = s feramr st 2fHe wifgen fmTere ae 2012 Wi 2, el @ &

A) 4. T4 T B) seiR® C) Wit D) wArarferar
T @ feaw e w= @ o 2

A) 29 IR B) 29 & C) 29 fmsR D) 20 3R
A AHRE T & fora w1 & fog ufE @

A) RTACTH B) wforqd C) wfrafs D) &¥&

frm i wfes wifeen St form & forg ueeht witen & =0 A wfaftesa =

A) I AT St RN B) TS &l TSI

C) \aid ~arTerd st =rarenT D) SRS St T A=t

AFa Gic & g SIfereras Aae @9, YR & FEe SEnT & g9E W S wl AUSH g Sal
fear wan 2

A) 30 RG ¥ 70 ARI Th B) 40 @’ ¥ 70 @R A

C) 50 9@ ¥ 70 &G qF D) 40 oG ¥ U HiE dF

I TATEERE & AR <9 I ART A R gora eiRa w2

A) T8 TEIRE HIA B) UNDP C) 2R %i3eue ue dfdt ¥ie wiat D) fawa d&
fova Swa@n feaw e w= R S R

A) 3193 B) N3 C) 4 &R D) 10 feEs

ICC T-20fdwa 7 2014 ¥ TeF Ul H S8l ol Ioeo¥ AfeRNTa 3Tk ol o

A) 101 B) 106 C) m D) 16

AT e fre & defea 2

A) 3rfeaeer ¥ {1 At IR B) SR yomedt o fafme

C) s foerm = forw smae D) W&KR &I 3 IR @
fra smE weafy = =1 e s o B & A vl aeRn @

A) sRTH eI B) wist g C) fa= fordest D) T W
FBE TETET A I F T8 rTegEr w-A &

A) =feror i B) rgaitar  C) IreoiifRan D) T ¥ =i t 78 7
‘Why | am an Atheist’sT iae i o

A) Y T 99 B) wuad s C) wia f&s D) ¥edTd SIRT
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69.

70.

71.

72.

73.

74.

B & | U 7-F Sl Ao STENT ST STEhel i 2

A) 3T FAR AW B) . &. wgar

C) Wiew f&E smeeratiorn D) 3ol JahTar IE

T AR SR IRATT FI07 < | o F 3T ) T

A) 1. 04. 2007 B) 02. 10. 2007 C) 14. 1. 2007 D) 01. 04. 2008
‘g’ T ‘Jedliee AR’ ¥ T8 "E 8 S WFcis o qee 7

A)Tid MEERR & B) Jcaliicd we@ER & C) ITRYT 9K & D) =férr- ga ¥nR |

: (W A 72-73) : e Ry M7 wR Aol § @ o ol oA oft I wae @ g9 & o

e @ a6 AR A IR /AR & A e 2
FJUL: BOQQ :: LHRX: ?

A) BKPR B) MNCC C) HRYY D) HMNC
9:162::8 : 7
A) 162 B) 128 C) 96 D) 112

I IR -TE H g Ol 98t g A 2 W T9 U A1 WA 2
HaEed - SRR SRR 9F

A) fFaF : wEe : 3MER B) WUSHIR : difee : fAwor

C) 91ed : U : qrel S D) ¥gh : 98 : T

fdw (997 | 75-76) Ry W@ =R fawedl d A < fahed v ol A wHE € IR 39 RE U
TE o g1 39 fawH 7T ol A B Sl 39 GHE 9 gate FE 21

75.
76.

77.

78.

79.

A) 62 B) 42 C) 152 D) 110

A) ST B) sfieient C)waif3ar D) =&t

v foRiw @i 9 ¥, ‘Ju ra de’ @ wide™ @ ‘what was it’; ‘mo nil’ @1 wees ® ‘you go’; ‘nil pam
ra’ 1 A9 8 ‘you like it’ 3R ‘tok lu fo’ =T #ae™ ? ‘she was sick’3mT 3@ @ig § ‘what you
like’ & & for@:

A) nilralu B) pom nil ra C) pomralu D) de nil pam

gfe ‘MOUSE’ = ‘PRUQC’ & &1 ¥ whisag a1 Wi 8, o 3 @ie & ‘SHIFT' &l &4 forn
S 8

A) VKIRD B) VKIDR C) VJIDR D) VIKRD

‘ATLE’ 3R ¥ 31on & forar sl oes o @l &, O0g 5 38R T 8¢ T8 9§ hadl Udh aR
B 9ART AT 8

A) @ B) &= C)ar D)9R ¥ 3tfern
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80. T UIfehdT TAM H TS U A 36 A @e fRY T T wEel IR & 96, T THe? §, @A IR @
qE A X B, A FR H qE G e IR TS | Ui D g Y W N wed o e @
Waﬁ:

A) 10 B) 12 C) 15 D) 17

fAder: (wewr A 81-83 ): e A A, B, C, D, E, 3R F &l 2 S A 7 SA dh NAd AR A
TaR 9 — U Aiesh qfa foet — mafstd vt 2 1 C 3R D & == @ e & 3 A a
C & RI¥IH Ueh Al 2 | F 3R E & WA Uah Aiceh 8 3R E &l F A 98t Ao el
21 B & A 9 95d IRARTA e B, W A T8 o g e 21 Aeawnt 1w B A I
B |

8l Il 1 HH fhE ACH ¥ RN BR:

A) A B) F C) D D) feiRa =&t forar < aean
82. iceh E &l fohm IR Al TSI el 2

A) TEd B) =it C) | D) fuiRa & for s @t
83. IRl & A T fhE e | 3 BN

A) A B) D C) B D) feiRa =&t forar S aean

84. B,C,D,E,F,G,H, I% R ¥ o & 9@ 93 31 B, F3R C &1 fehcas =/ 21 E, F& a0
T B G, CH N ¥ @0 1 D, Gl e & 781 1 C 3R J & e @ =afea 31 C
AR D & = fohaw =afem &

A) DT 2 B)y®a@4 C)@ads5 D)am27a4

85. AT A+BHAquaefr A, BwHifuar g, ‘A-B’ i daew 8 fof A, B &t oot 8, ‘A x B’ @l

waed & foF A, B @ g ® 3R ‘A + B’ &l Wae@ ® fF A, B &l 98 31 @ ‘P+R+S+Q & forw

HIT-AT eI T
A) P, Q& 3& B B) Q, Pait snie (faam ot &) @
C) P,Q 3ic (faam =it 5&+7) 2 D) P, Qatt A &
86, Q®AM, PR TAIRMATIAR I S, PRI IA IR TN w781 M &1 T A = Raan 21
A) At B) faam C) A D) fawea (A) 3@t (C)

87. T Sfarg ¥ 79 A TWE T IE FA B 3R 15 mASH B G U ¢ qeA 7 IR 10 m =
21 fiR 98 a¥ 3 X 10 mIAd B IR FT H IO 91 IR qIH 22 mIAAA B 3R Q' forg 7w
Tgua Bl 98 'S’ forg ¥ fre ® ik forw fam A 2
A) 15 mafm B) 22 meRm-wd  C) 12 me@m D) 13 maRm-ad
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Fder (we= . 88—89) : W /TSN /UG B YA Hl U IR Ay ¢ fawen A MHw uT W

HIEH e
88. 9,27, 31,155, 161, 1127, ?
A) 135 B) 1288 C) 316 D) 2254
89. Y, BT,GO, ?
A)N B) M C)L D) K
90. fwifena 1 &, > 3R T T T IW A H A 2T v fawew A few e F wR fawmew A o
adb_ac_d bcda bcac _d
A) bacbd B) dbacb C) cbadb D) achda
9. AR Pw T+ B Q& d —2, Rar 3 x 7, 3R S ond + 2, ot fomifera & @ wiA-a
Tl B
A) 16 R12P49S7Q9=200 B) 32S8R9=160Q12R 12
C) 8R8P8S8Q8=57 D) 36 R 4S8Q7P4=10
92. 10 9w UEA fuam & g 9 F G | AT A M1 10 A & «e, Uar w Ay 9 A g § I

BN I A T I TN S B
A) 5:2 B)7:3 C)9o:2 D) 13:4

fder (we . 93 -95): WEEIR UF Ued @l 3MeEdi @ folg Uk sl bt wderor guian # b

93.

94.

95.

96.

97.

98.

THERTS A & 26% 9gd &, GARIRYS B &l 25% dgd , 9HeRas C @t 14% Jed ¥;
AR 99 A 3R B &l 11% Ued 3; AR 99 B 3R C & 10% ded ¥; garemas C
3R A @ 9% Y ¥ IR ARG C @l had 0% ded 2l

N IS W A9 GHERTS Yed 8, I gferaer 7

A) 10 B) 4 C) 5 D) 6
N ST TRAST Ueh GHMERYT 9ed 8, Ia Jiaeredr &
A) 20 B) 80 C) 60 D) T ¥ wIE & &
I ST T ¥ T & FHERIT Ued g, Ia gige g
A) 15 B) 16 C) 20 D) T ¥ &g & 7
T TS A I gedl v I A fRent aR EeRivT R A
A) 24 B) 48 C) 22 D) 44
2014 A1 T holvek fohdl AT & Tolvek T BHT:
A) 2018 B) 2020 C) 2022 D) T ¥ =g t 78 7
39 fawmeq ot g o wse PAINTED & wdvr- uffara & sifarsifers femn 2
(A) QATNIAY (B) TATVIAL
(C) ALINIAY (D) AETNIAY
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99.

100.

101.

102.

103.

104.

v TR D R Y A R T # o B s ¥ A fg #, A SR A e ¥ e
ez A1

A) 2 B) 3 C) s D) 6
Feifera Tarfm F forem gt &
A) 28 B) 24 C) 25 D) 26

FTEATTT T I2 T -4 7

A) faenfia it foem ot 1 faorfea e B) wieasn & deferg SHeRit 3

C) faenfai =t Aew foramn D) faenfdal =l qden U™ o & oI 9arR e

AT & W TR(MLT) & daer 3 T a1 6o qet 78 8 ¢

A) Hf seamT & SR Sae 2

B) AT o Wfdl TR A Felerd AHATIoTeh - S saaeanst R FeR o 2

C) MLT ¥ TFhII & T2 3R AWM & e HSCARIU &l JNed aiAferd 8

D) MLT farensit =t =& arg a-1an 2 foF F R annlt ol 31e W 99 3R OTd 989 R 390! aIed
LD

‘e & Ay 'R (ULT) & |eer § -1 Hue get Ja 1

A) ULT &1 9% Tearaeh Wilke &

B) ¥® ‘Hfa o0 stagie’ 2 it a8 RRw a2l & woera aF & Afd el @ a8 fawa &
TNeT W hived Bl §

C) wregfuer sifoeware st ULT = va g et ore 2

D) Tz faenfal =l sifge merRor ot fawfm e Sttt STaeR Yo ol &

‘3rezma o faws TR O(RLT) & 99 § i -1 o T8l T8l =

A) RLT & %" T&d@d S0 &

B) dE wEdT-hivad AT &

C) foenf¥al = woen & weT & oY U YRR T MY UM ST 9T B

D) 3reAme Trafieh T U801 el 7 3R st e T ueor o @
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105.

106.

107.

108.

109.

110.

m.

= 3N TR RGH T AR Rferh IIA N AT AT TN RiA-1 A B -

A) TR - Toi i & B) dsiIewes &=

C) ¥awa &= D) I -T& &=

‘SR faftr’ o wEer R T8 R

A) T frmrrt ® i a8 o9 a9 | faamer Sfiar- 107 S e R g 7

B) ue foenfa % wmiorer wafea =it Weaied o &

C) 7& Jiftreh AW ot Wreaied o &

D) 3@ I 99T 3R A9 - ORI & AR Iehel a9 &l oo Bt B

Frea faftr & w1 | A A s At wegfaeRor’ 1 wEer Se-ar E R

A) dfE g & g0 I Uite Al 3k faRus o wen W AR o 8

B) ue faftr fasoer aoeer faenfdar & forg Swanm 2

C) s farenfial % ver yahR & gdmare & Aeanted et 8

D) & deRl 3R YeEHl ol FISS, ASAl, WA SAe Sil STEATTT USH & €U fohar ST dehal B

“wE sreamae fafer @ wEEr W - R

A) T8 Jferer faalia o6 SO TreATae - ot @l e R § GEREn Sl

B) @ ¥ 3reAIUA deh-iiehl 3R gl T Siferehas IwaT wfferd B 8

C) I8 AT Ul ¥ R A B

D) ag faenfal <t amfore - snfier aRftafoal ot weifem et @

‘e aRet fafer’ @1 A - T R

A) Te faenfday &t dRer F=Tais &l SR e B

B) Wl W URumAl 3R 2w & AR | TAfFuaan sl &, 981 W 3q & FGeq 6 o bl & | 29
Rerat ot gfdiers 3R St s # it fear s wwRan @

C) 998 & aFW Teqd foRd 10 fawar srerar e W wE W ER 3R stafhar @l Gt weet &

D) W&l W uRemt & forg weqa fowa fr& smefirer o & o 2 2, @t a8 siaiforg o ot o
FEHA B IR T ¥ I qReE Gei: w@rifae B 8

‘g1 - ez fafer’ &1 @ wi- AR e

A) T8 WRIERI Tl GHET T ST [A9elu0T e 3R Tehadd T o &l Jae 98 &eel 8

B) g7 faenfa % foi-wafdar = ewfRd ww @

C) a5 fuiam 3iR &ier - Giene &l RIS N T B

D) g% |fthd WHRIERY Tl Jah-t SRl 8 S IRE-eRI GTenT ol IR ot &

‘iR T A RA- S B

A) gfaafte B) iferuRur C) =i fareror D) &R e

ZBG-20997-A 17 Contd.

*



N2, et fEren yomeh = gEdEaes R |IFT I @

A) ot JRfsr B) w&. e C) W. T D) T Tiieh
N3, faen ot frsamds TRl 1 e TS fRR AT W @

A) BEd B) &&t C) wiikar #i=ead D) Wite =08
N4, ‘uferd fagee v wH-& A9 8

A) TS B) &R =é C) &% ¥ ehgr Goteret D) ifear drsierex
N5, 3TEATIT- JIRAW Uithar # TAa W FIA-41 &

A) Tt B) €&l C) 3reamsh D) e - T
6. EAWHS &F T I &R o

A) |zeruor B) fergetwor C) =& D) weatehT
7. UNIEERR STEATIH SF T I SR fRaeT @

A) fom &t ream % =g w9 T8 7 B) W FaR 3FEE &

C) T 3reama &t e FHIAr B D) W 3T fawa sgd ISt e ¥ W 8
8. TS HUR H GG A B g 8, 99 R -

A) fawoasg e & B) fawgeeg fAedt ot

C) wezw fB=it & D) q&aeh &t 0T IUIAT 3Tt B
9. 3BT A afean &9 ¥ forg g ufafafas a2

A) Tt =it Iaftuafa B) fasiat &t @

C) faenfl s/ I WY il wer D) e & qut ARamr
120. GO I AT, HedicheT hel 3R THIERR 291 § ITANT el Yok Weeaqui e 8 o @ &

A) IR g B) &= HiewRa

C) favyel &t "em D) wa-Teieh &

Section — C (Subject Knowledge)

121. Who wroteDld Possum’s Book of Practical Cats

A) T.S. Eliot B) Sylvia Plath C) Wallace Steven®) W.H. Auden
122. The name of a mathematician and philosopherwdn the Nobel Prize for Literature is:

A) Siv Winston Churchill B) Bertrand Russel C) VMaipaul D) W.B. Yeats
123. The fictional era created by Aldous Huxleyis epoch-making novel Brave New World

A) After Darwin B) After Marx C) After Ford DAfter Armageddon
124. The theatre which Yeats launched in 1904 highassociate J.M. Synge:

A) Drury Lane Theatre  B) Royal Court Theatre ) T@e Rose D) Abbey Theatre
125. Newspeak is an artificial language — “desigteediminish the range of thought”. In which book

can you read about it?

A) 1984 B) Brave New World C) The Cancer WardD) Animal Farm
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126. Which of the following novels takes its tittem a work by John Bunyan?
A) Dombey and Son B) Vanity Fair C)Lord Jim D)Jane Eyre
127. The struggle for radical social reform in ##8¥ Century forms the background of:
A) Cranford B) A Tale of Two Cities C)Felix Holt D) Pride and Prejudice
128. “In Memorium” was written in memory of:
A) Keats B) Thomas Arnold C) P.B. Shelley ) AH. Hallam
129. Sissy Jupe is a character in:
A) Hard Times B) Middlemarch C)Jude the Obscure D)David Copperfield
130. The writer who wrote a poem in memory of Yesits

A) Eliot B) Auden C) C. Day Lewis D) Edisitwell
131. With which of the following political movemenivas G.B. Shaw associated:

A) The Fourth International B) The New Left

C) Fabian Society D) Labour Party

132. The character whose nickname is Rabbit (amarg middle-class man lost in the sterility of the
modern world) is featured in the works of:

A) Saul Bellow B) Simclair Lewis C) Huxley D) Updike
133. Sea of Poppiets written by:
A) Amitav Ghosh B) Vikram Seth C) Arvind Adiga D) Raja Rao

134. “Anxiety of Influence” — the term has beennzm by:

A) Lionel Trilling B) Harold Bloom C) Cleanth Boks D) Derrida
135. Which of the following is a formalistic crific

A) Arnold B) Northrop Frye C) Empson D) B4Pound
136. Of the four seminal feminist texts, which ame&vritten by a man?

A) A Vindication of the Rights of Woman B) The Second Sex

C) A Room of One’s Own D) An Essay on the Subjection of Women
137. ‘Paradox’ and ‘Tension’ are critical termsmated by:
A) Tate and Brooks B) Wordsworth and Coleridge
C) Pound and Eliot D) Johnson and Pater
138. According to Coleridge, what it is that dissd, diffuses, dissipates, in order to recreate...and
to unify:
A) Fancy B) Secondary Imagination C) Epiphanyp) Sensibility

139. The Long Revolutio(l961) is written by:
A) David Daiches B) Terry Eagleton C) Raymondlifins D) Jonathan Culler
140. ‘Difference’ is a critical concept introduckg:

A) Foucault B) Lacan C) Edward Said D) i
141. Which device has been used in the lines “Qscese counted sweetest/By those who never
succeed"?
A) Hyperbole B) Ambiguity C) Conceit Daradox
142. ‘darkness visible’ and ‘fearful joy’ are exaegpof:
A) Oxymoron B) Antithesis C) Anti-climax )BBimile

143. Who, of the following, is supposed to be theoment of the theory of dhvani (suggestion):
A) Bharatamuni B) Anandavardhana  C) Abhinavagupt D) Kuntaka

144. Which of the following is not a dramatic mooglie?
A) UlysseqTennyson) Blrra Lippo Lippi (Browning)
C) On His BlindnesgMilton) D) The Love Song of J. Alfred Prufrofkliot)
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145. “The pen is mightier than the sword” — thiamsexample of:

A) pathetic fallacy B) synecdoche C) transfermpdhet D) metonymy
146. Who, of the following, did coin the word — “N@o"?
A) Swift B) Twain C) Wodehouse D) Orwell

147. The Prime of Miss Jean Brodreas written by:

A) Iris Murdoch B) Muriel Spark C) Virginia Woolf D) G.B. Shaw
148. Which of the following was the first novellmglish written by an Indian writer?

A) Kanthapura B) Untouchable C) Rajmohan’s Wife D) Murugan, The Tiller
149. Which of the following is written by Sri Auroigo?

A) The Religion of Man B) The Mark of Vishnu

C) Delhi: A Novel D)The Future Poetry
150. Which of the following is written by Raja Rao?

A) The Meaning of India B)Two Lives

C) The Death of Vishnu D) The English Teacher

151. The 2013 Nobel Prize for Literature was awarde
A) Chinua Achebe B) Alice Munro C) Margaret Atwood D) Wole Soyinka
152. Which of the following Indian writers was givehe Sahitya Academy Award for English in 20137

A) Allan Sealy B) Vikram Seth C) Temsula Ao ) Bnjum Hasan
153. The central character in Rushdigisinight’s Childrenis:

A) Padma B) Dr. Narlikar C) Shiva D) Sale8mai
154. The Gunny Sadk written by:

A) M.G. Vassanji B) Nadine Gordimer C) Wole Suka D) Alan Paton
155. Which of the following novels is written by k@aret Atwood?

A) Cry, the Beloved Country B) Foe

C) The Handmaid’s Tale D) A Man of the People
156. Which of the following novels is the sequelGbinua Achebe’s first novel Fhings Fall Apart

(1958)?

A) Arrow of God B) A Man of the People

C) Anthills of the Savannah D) No Longer at Ease
157. July’s Peoplds a novel written by:

A) Nadine Gordimer B) Coetzee C) Alan Paton D) Wole Soyinka

158. Who, of the following writers, is credited Wwitaving, coined the term, ‘cyberspace’?
A) Bruce Sterling B) Rudy Rucker C) William Gibson D) Neal Stephenson
159. The Playboy of the Western Woidda play by:
A) Bertolt Brecht B) G.B. Shaw C) J.M. Synge D) Inoesco
160. The Time Machine a novel written by:
A) Erelyn Waugh B) Aldous Huxley = C) George Orwell D) H.G. Wells
161. Roland Barthes is the author of one of thiefohg texts:
A) “The Death of Tragedy B) “The Death of thethaor”
C) “The Death of Literature” D) “The Deatha Hero”
162. The Brothers Karamazothe famous novel was written by:
A) Leo Tolstoy B) Chekhov C) Dostoevsky D) Pushk
163. The Waste Landhe famous poem by T.S. Eliot is divided into:
A) Three parts B) Four parts C) Six parts ) FHive parts
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164. Who, of the following, said that ‘Milton belgs to the Devil's party without knowing it'?
A) William Blake B) William Empson C) C.S. Lewis D) Frank Kermode
165. Strophe, antistrophe and epode form a thredesfracture in:

A) a Greek ode B) a Classic ode C) a Medieval odP) a Petrarchan sonnet
166. The Well-Wrought Uriis written by:

A) Rene Wellek B) Winsatt C) Cleanth Brooks  D)rleEagleton
167. The soul of tragedy, according to Aristotte is

A) Character B) Thought C) Spectacle D) Plot

168. The author ofhe Hungry Tides:
A) Amitav Ghosh B) Vikram Seth C) Shobha De D) Upamanyu Chatterjee
169. The woman character who is an artist by psad@sin Virginia Woolf'sTo The Lighthousss:

A) Mrs. Ramsay B) Lily Briscoe C) Mrs. Dalloway  Miriam
170. The poet who described poetry as “inspirecheragtics” is:
A) T.S. Eliot B) G.M. Hopkins C) Ezra Pound D) Yeats

171. The posthumously published novel of Jane Auiste
A) Sense and Sensibility ~ B) Mansfield Park C) Emma D) Northanger Abbey
172. Carlyle’sSartor Resartusneans:

A) The tailor retailored B)I know not where

C) Satan’s Story Retold D) A set of elegantodst
173. The theatre of cruelty is associated with:

A) Grotovsky B) Antonin Artaud  C) Brecht D) lesco
174. Using the expression — “crown” for the mongrishan example of:

A) Hyperbole B) Personification  C) Metonymy D) Synecdoche
175. The concept of “arche writing” is developed by

A) Foucault B) Barthes C) G.C. Spivak D) fabat
176. Table Talkis a collection of essays by:

A) Hazlitt B) Lamb C) Hunt D) Addison
177. Dr. Johnson’A Dictionary of the English Languageas published in the year:

A) 1757 B) 1756 C) 1755 D) 1758
178. Willy Loman is a character in:

A) A Doll's House B) The Cherry Orchard

C) Waiting for Godot D)Death of a Salesman

179. Which of the following plays was written byrfzel Beckett?

A) Endgame B) A Doll's House C)Volpone D) Mother Courage and Her Children
180. Who wrote “A tiger does not proclaim its tigete”?

A) Ngugi B) Wole Soyinka C) Achebe D) Dendlalcott
181. “Did He who made the Lamb made thee” — appeats poem:

A) “Chimney Sweeper”B) “London C) “The Tyger” D) “Introduction”
182. In his “Foreword” t&Kanthapura Raja Rao describé&anthapuraas a:

A) historical novel B) political novel

C) work of magic realism D) sthalapuran@¢ied of a place)
183. Who among the following was not a member efgtoup, ‘The University wits'?

A) Ben Jonson B) Thomas Nashe C) Christopher dwa| D) George Peele
184. The Great Gatsbis written by:

A) Saul Bellow B) F. Scott Fitzgerald C) John Ugsli D) D.H. Lawrence
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185.

186.

187.

188.

189.

190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

Who among the following has translated BeoWulf

A) Thom Gunn B) Edward Thomas C) Seamus Hean®) Alan Lewis
Which of the following feminist critics usdtktterm — “Gynocriticism” for the first time?
A) Kate Millet B) Simone de Beauvoir C) Magyilmann D) Elaine Showalter

‘Anagnorisis’ is a term used by Aristotle irder to describe:
A) the moment of discovery by the protagonist.

B) the reversal of fortune

C) the happy resolution of the plot

D) the convergence of the main plot and the sob-pl

“Only connect” is the epigraph to a novel by:

A) D.H. Lawrence B) E.M. Forster C) Virginia Wdol D) Joseph Conrad
Which of the following novels makes interteattteferences tdane Eyr@

A) No Telephone to Heaven B) Crick Crack Monkey

C) Wide Sargasso Sea D)Between Two Worlds

J.M. CoetzeeBoeis a postmodern retelling of:

A) lvanhoe B) Evelina C) The Moonstone D)Robinson Crusoe
The Apprenticés written by:

A) Arun Joshi B) G.V. Desani C) BhabhBhattarcharya D) Nayantara Sahgal

Sheridan’s first play was:
A) St. Patrick’s Day B) The Rivals C) A Trip to Scarborough D) School for Scandal
The term “Campus novel” is associated with:

A) Graham Greene B) William Golding C) Margaretbble D) Kingsley Amis
The line — “I am no Prince Hamlet nor was ni¢are........ " appears in T.S. Eliot’s:

A) “The Love Song of J. Alfred Prufrock”  B) “Fo@uartets”

C) “Gerontion” D) “The Waste Land”

Bosola is a character in a play by:

A) Ben Jonson B) Webster C) Marlowe D) iftas Middleton
The play — “A Dance of the Forests” is writt®n

A) Margaret Atwood B) Nadine Gordimer C) Wole Suka D) Ngugi

Who among the following popularized the expi@s— “The Two Cultures™?

A) T.S. Eliot B) Matthew Arnold C) Raymond Wilhas D) C.P. Snow

“Bliss was it in that dawn to be alive, bub®young was very heaven” — this occurs in a pbgm
A) William Wordsworth B) S.T. Coleridge C) Byron D) Shelley

In The Waste Landliot uses the expression — “il miglior fabbro’refer to:

A) W.B. Yeats B) Ezra Pound C) Sylvia Plath D) W.H. Auden

The term “a stream of consciousness” is dérik@m the writing of:

A) Mary Sinclair B) Dorothy Richardson C) Williadames D) James Joyce

ZBG-20997-A 22 Contd.



ROUGH WORK
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Instructions :

1.

10.

11.

12.

13.

14.

Write your roll number on the Question Bookleti@lso on the OMR Answer Sheet only in the space
provided and nowhere else.

Enter the Question Booklet Number and SeriethenOMR Answer Sheet by darkening the correspandin
bubbles with Black/Blue Ball Point Pen only.

To open the Question Booklet, remove the Spiagently.

Check that the Question Booklet contains 20Qe@ive Type questions with multiple choice answdrs
case of any discrepancy, inform the Invigilatorhivit10 minutes of the start of test.

Each question has four alternative answers A &,D, of which only one is correct. Darken oniyeo
bubble A, B, C or D, whichever you think is the reat answer, on the OMR Answer Sheet with
BLACK/BLUE BALL POINT PEN only.

All questions are of 1 mark eachHERE IS NEGATIVE MARKING . 1/4 marks will be deducted for
every wrong answer.

Rough work is to be done on the question boaliét.
Do not make any identification mark on the OMRs#ver Sheet or Question Booklet.

The Answer Sheet is designed for computer atighu If the instructions are not followed progethe
candidate alone shall be responsible for the rastilbss so caused.

After the test, hand over the Question Bookiet OMR Answer Sheet to the Invigilator on duty.

Telecommunication equipments, such as calasglgbager, cellular phone, wireless & blue toothicks
etc. and weapons are not permitted inside the exaion hall.

Nothing is to be copied/noted from the given ®Rnswer Sheet and Question Booklet, and be takéen o
of the Examination Hall. Any candidate found dosmywould be expelled from the examination.

A candidate who creates disturbance of any &inchanges his/her seat, or is found in possesgiany
paper possibly of any assistance, or found givingeceiving assistance, or found using any othé&iun
means during the examination will be expelled fitbig examination. The decision of the Observer diwll
final.

The candidates will not be allowed to leaveERamination Hall before the expiry of time.
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Key TGT-(ENGLISH-11) 1.6.2014

Ans.

Q.No.

161
162
163
164
165
166
167
168
169
170
171
172
173
174
175
176
177
178
179
180
181
182
183
184
185
186
187
188
189
190
191
192
193
194
195
196
197
198
199
200

Ans.

Q.No.

121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141

142
143
144
145
146
147
148
149
150
151
152
153
154
155
156
157
158
159
160

Ans.

Q.No.

81

82

83

84
85

86

87

88
89
90
91

92

93

94
95

96

97

98
99

100
101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120

Ans.

Q.No.

41

42

43

44
45

46

47

48

49

50
51

52
53

54
55
56
57
58
59

60
61

62
63

64
65
66
67
68
69

70
71

72
73

74
75
76
77
78
79
80

Ans.

Q.No.

10
11
12
13
14
15
16
17
18
19
20
21

22
23
24
25
26
27
28
29
30
31

32
33
34
35
36
37
38
39
40

Contd.
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